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Direction : Answer the following questions
by selecting the correct option.

1. Basic questions in Economics as a subject
centre around

(A) income

(B) expenditure

(C) equity

(D) None of the above

2. Unit prices of land, labour and capita! are
studied in

(A) macroeconomics
(B) microeconomics

(C) both macroeconomics and
microeconomics

(D) None of the above

3. An economy producing on its production
possibility frontier denotes that

(A) it is distributing the products equitably
(B) it is making maximum profit

(C) itis using its resource most effectively
(D) None of the above

4. Almost all of the countries of the present
World have adopted the system of

(A) market economy
(B) command economy
(C) mixed economy
(D) None of the above

5. Concept of ‘equilibrium’ in Economics has
© its origin in

(A) Politics

(B) Statistics

- (C) Mechanics

(D) None of the above
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6. Though water is very essential for us, but
it has very little or no value. Why is it so ?

(A) Supply of water is scarce

(B) Marginal utility of water is very little
or nil

(C) Both (A) and (B) are true
(D) None of the above

7. In cardinal utility analysis of consumption
a consumer can

(A) measure total and marginal utility
(B) measure total utility only

(C) measure marginal utility only

(D) None of the above

8. That indifference curves do not intersect
each other is based on the following
assumption in consumer behaviour :

(A) Completeness
(B) Continuity

(C) Non-satiation

(D) None of the above

9. For a consumer consuming two goods
with fixed income the tangency solution of
maximising his utility stipulates that

(A) marginal rate of substitution for
goods equals the ratio of prices of
those goods

(B) marginal utility of expenditure of one
good equals that of the other one

(C) Both (A) and (B) are correct
(D) Neither (A) nor (B) is correct

10. In comparing inferior goods with Giffen
goods it can be said that

(A) both the goods are superior goods
(B) all inferior goods are Giffen goods

(C) change in real income has got same
impact on the demand for both the
goods

(D) None of the above
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11. All the points on an isoquant reveal that

(A) marginal product of at least one
input is positive

(B) marginal product of at least one
input is negative

(C) Both (A) and (B) are correct
(D) Neither (A) nor (B) is correct

12. If an expansion path is a straight line it

ensures that its production function is with
(A) constant returns to scale
(B) increasing returns to scale
(C) decreasing returns to scale

(D) None of the above

13. When average cost of production of a firm

is at the minimum level its
(A) marginal cost equals average cost

(B) marginal cost is greater than average
cost

(C) marginal cost is less than average
cost

(D) None of the above

14. An inferior factor of production is

associated with the concept of
(A) constant production
(B). expenditure elasticity
(C) decreasing cost

(D) None of the above

15. When marginal revenue of a firm is

14

decreasing its average revenue is

(A) decreasing
(B) either increasing or decreasing
(C) constant

(D) None of the above
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16. If there is positive excess demand in a
perfectly competitive market a stable
equilibrium can be arrived at if

(A) existing price is less than equilibrium
price

(B) existing price is more than
equilibrium price

(C) Both (A) and (B) are correct
(D) Neither (A) nor (B) is correct

17. Monopoly market provides a loss in
welfare as because it

(A) produces at an inefficient level

(B) determines price at higher than
marginal cost

(C) Both (A) and (B) are correct
(D) Neither (A) nor (B) is correct

18. Concept of proportional demand curve is
used in the following form of market :

(A) Monopoly

(B) Monopsony

(C) Both (A) and (B) are true
(D) Neither (A) nor (B) is true

19. Non-price competition in oligopoly market
can take the following form :

(A) Advertising

(B) Creation of quality differentials
among products

(C) Both (A) and (B) are correct
(D) Neither (A) nor (B) is correct

20. Characteristics of a monopsony market
can best be observed at

(A) product market
(B) factor market
(C) money market

(D) None of the above
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21. Output elasticity of a factor is the ratio of
its

(A) marginal product and average
product

(B) average product and total product
(C) marginal product and total product
(D) None of the above

22. With a fixed supply of land a tax on pure
economic rent shall be borne by

(A) land-user
(B) landowner
(C) Both (A) and (B) are true
(D) Neither (A) nor (B) is true

23. If supply curve of labour bends backward
above a given wage rate then, at above
that level, it is due to the dominance of

(A) substitution effect
(B) income effect
(C) wage effect
(D) None of the above
24. Real interest rate is the difference of

(A) nominal interest rate and rate of
inflation

(B) nominal interest rate and rate of
. taxation

(C) nominal interest rate and risk
premium

(D) None of the above
25. Profitis a reward for
| (A) risk - bearing
(B) innovative power
(C) Both (A) and (B) are correct
(D) Neithet_‘ (A) nor (B) is correct
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26.

27.

28.

29,

30.

Concept of Pareto efficiency is based on
(A) production process
(B) plurality
(C) command
(D) None of the above

Pareto efficient allocation of goods among
consumers is based on the concept of

(A) marginalrate oftechnical substitution
(B) marginal rate of transformation

(C) Both (A) and (B) are true

(D) Neither (A) nor (B) is true

Equilibrium of an economy is Pareto
efficient if all markets are

(A) monopolistically competitive
(B) perfectly competitive

(C) Both (A) and (B) are true
(D) Neither (A) nor (B) is true

Pareto efficient allocation of goods among
consumer is not affected by

(A) ownership externality
(B) public good externality
(C) price externality

(D) None of the above

Utility—possibility frontier can be directly
constructed from

(A) contract curve
(B) indifference curve
(C) isoquant

(D) None of the above
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31.

32

33.

34.

35.
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In a circular flow of income model in
Economics Gross Domestic Product may
be measured with the help of

(A) flow of final products
(B) flow of costs
(C) Either (A) or (B)
(D) Neither (A) nor (B)
‘Value added’ is the difference between
(A) sales of product and purchase of input

(B) value of final
intermediaries

products and

(C) Both (A) and (B) are correct

(D) Neither (A) nor (B) is correct
Concept of GDP deflator is directly related to

(A) growth of product

(B) growth of factor

(C) Both (A) and (B) are correct

(D) Neither (A) nor (B) is correct

Part of government expenditure not
included in calculating Gross Domestic
Product (GDP) is

(A) government purchase of goods
(B) government purchase of services
(C) Both (A) and (B)
(D) Neither (A) nor (B)

Calculation of national income includes
(A) non - market activities
(B) domestic activities
(C) transfer payment

(D) None of the above
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36.

38.

39.

40.

In classical macroeconomic system real
variables are not affected with a change in

(A) wage
(B) price
(C) money - supply

(D) None of the above

. Say’s law of market ultimately leads to the

attainment of

(A) unemployment
(B) underemployment
(C) full employment
(D) None of the above

In the classical system marginal
productivity of labour is equated to

(A) money wage

(B) real wage

(C) Both (A) and (B)
(D) Neither (A) nor (B)

A change in fiscal policy raises income of
an economy through the operation of

(A) investment muitiplier

(B) government-expenditure multiplier
(C) Both (A) and (B)

(D) Neither (A) nor (B)

An increase in government expenditure
shifts the IS curve

(A) outward

(B) inward

(C) Both (A) and (B)

(D) Neither (A) nor (B)
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41. In the short run as income rises average
propensity to consume

(A) rises
(B) falls
(C) remains constant
(D) None of the above

42. Inthe long run average propensity to consume
tends to be constant as consumption is
supposed to depend on

(A) permanent income
(B) current income

(C) transitory income
(D) None of the above

43. For a consumption function ¢ = a + by where
= consumption, y = income and a, b are
constants, the value of multiplier shall be

(A) 1/(1-b)

(B) a/(1-b)

(C) Both (A) and (B)
(D) Neither (A) nor (B)

44. With the help of accelerator we can find
the relation between

(A) income and consumption

(B) income and tax

(C) incomeand government expenditure
(D) None of the above

45. If the marginal product of capital exceeds
the cost of capital investment shall

(A) rise
(B) fall
(C) remain the same

(D) None of the above
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46.

47.

48.

49.

50.

51.

4

The promptness with which money can be
converted into other things is known as

(A) velocity
(B) fluidity
(C) liquidity
(D) None of the above

Supply of money through credit creation
can be done by

(A) Central bank

(B) commercial banks
(C) Both (A) and (B)
(D) None of the above

Supply of money can be restricted by the
Central bank by

(A) selling of government bonds

(B) raising the level of statutory reserve
ratio

(C) Both (A) and (B)
(D) Neither (A) nor (B)

At any given point of time supply curve of
money shall be

(A) positively sloped
(B) negatively sloped
(C) vertical

(D) None of the above

Measure of money is not affected by the use of
(A) Credit card
(B) Debit card
(C) Both (A) and (B)

(D) Neither (A) nor (B)

Income velocity of money is the ratio of
(A) nominal GDP and stock of money
(B) stock of money and price
(C) price and nominal GDP
(D) None of the above
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52.

53.

54.

55.

57.

/4

Quantity theory of money is takes into
account that velocity of money is

(A) flexible

(B) constant and predictable
(C) constant but unpredictable
(D) None of the above

Quantity theory of money can be used to
find out the

(A) demand function of money
(B) supply function of money
(C) Both (A) and (B)

(D) Neither (A) nor (B)

Demand for real money balance depends
only on

(A) income

(B) rate of interest

(C) stock of wealth

(D) None of the above is true
Transaction demand for money is affected by

(A) income and rate of interest

(B) rate of interest and supply of money

(C) supply of money and income

(D) None of the above

Atheory of inflation can directly be derived
from

(A) Neoclassical growth theory

(B) Keynesian consumption theory
(C) Real business cycle theory

(D) None of the above

Demand - pull inflation may be observed
when there is

(A) high unempioyment
(B) high aggregate supply
(C) Both (A) and (B)

(D) Neither (A) nor (B)
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58.

59.

60.

61.

62.

63.

4

Fiscal policy suitable for restricting inflation
includes

(A) rise in government expenditure
(B) raising of tax - rate
(C) Both (A) and (B)
(D) Neither (A) nor (B)
During recession an economy can observe
(A) rise in Gross Domestic Product
(B) rise in business inventories
(C) rise in inflation
(D) None of the above
Exogeneous sources of business cycle include
(A) mulitiplier
(B) accelerator
(C) Both (A) and (B)
(D) Neither (A) nor (B)

Other than difference in natural resources
and production condition a country shall
engage in trade with other one if there is a
difference in

(A) colour of people
(B) taste of people
(C) religion of people
(D) None of the above

Under free trade a country shall produce
goods in which, in respect of other
countries, it has got

{A) absolute advantage in production
(B) comparative advantageinproduction
(C) Both (A) and (B)

(D) Neither (A) nor (B)

Ratio of the price index of a nation’s export
to that of its import is known as

(A) income terms of trade

(B) factoral terms of trade
(C) commodity terms of trade
(D) None of the above
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Demand for a factor in production is
considered to be

(A) derived demand
(B) direct demand
(C) Both (A) and (B)
(D) Neither (A) nor (B)

Optimum tariff provides a country its
(A)
(B)
(©)
(D)

The following measure
encourage free trade :

maximum production
maximum tariff
maximum consumption
None of the above

is taken to

(A) import quota

(B) foreign exchange control
(C) import substitution

(D) None of the above

Free trade may be disadvantageous if it
leads a country towards

(A) increased consumption
(B) increased production
(C) immiserizing growth
(D) None of the above

Infant industry argument is advocated for
a notion in favour of

(A) free trade

(B) protection

(C) Both (A) and (B)
(D) Neither (A) nor (B)

The Uruguay Round of Trade Negotiation
aimed at the development of

(A) bilateral trade
(B) multilateral trade
(C) new protectionism

(D) None of the above
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International policy on trade liberalisation
is in favour of

(A) reduction of tariffs

(B) increasing trade of subsidized
products

(C) discouraging trade of services
(D) None of the above

Exchange rate between Indian rupee and
US dollar is expressed as

(A) amount of rupee needed to purchase

one dollar

amount of dollar needed to purchase
one rupee

(C) ratio of total rupee and dollar in India
(D) None of the above

Exchange rate between Indian rupee
and US dollar, in the present-day floating
exchange rate system, is determined by

(A) demand for dollar and supply of rupee
(B) demand for and supply of rupee

(B)

(C) demand for and supply of dollar
(D) None of the above

In an open economy equilibrium national
income can be had if balance of trade equals

(A) balance of payment
(B) net domestic product
(C) net capital outflow
(D) None of the above

Other than current account balance of
payment account of a country contains

(A) Capital account
(B) Services account
(C) Both (A) and (B)
(D) Neither (A) nor (B)

“Devaluation of currency improves the
balance of payment of a country”. The
statement is

(A) always correct
(B) never correct

(C) Either (A) or (B)
(D) Neither (A) nor (B)
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Social advantage is maximised when the

(A) marginal social benefit is equal to
marginal social sacrifice

(B) total social benefit is maximised
(C) total social sacrifice is minimised
(D) None of the above

Which ofthe following is notacharacteristic
of social goods?

(A) Indivisibility

(B) Lack of exclusion principle
(C) Decreasing average cost
(D) None of the above

Which of the following is not a reason for
failure of market ?

(A) Positive and negative externalities
(B) Lack of public goods

(C) Imperfect information

(D) None of the above

Which of the following is not a reason for
the growth of public expenditure ?

(A) Urbanisation

(B) Social security measures

(C) Agricultural development

(D) None of the above
Interest payment is an item of

(A) capital expenditure

(B) revenue expenditure

(C) non-plan expenditure

(D) None of the above

Market borrowing of
government are included in

the Central

(A) tax revenue

(B) non-tax revenue
(C) capital receipts
(D) None of the above

16

76.

77.

78.

79.

80.

81.

AN Rt TS 73 734

(A) ot e TR difee sIfes
IR T

(B) it AN Toigls Sifds =¥
(C) G i wet 7y =1

(D) T (TR W

e @G AT TR @I @R TW?
(A) wRsrEre!

(B) Feiw Ao wreR

(C) TP oI I

(D) Torma AR

Tox @G IE IO G R T2
(A) FNF 4R TS AT

(B) “HII AR WOR

(C) =y ©

(D) Totaw (@IS W

v @ TR W I @ il W2
(A) wo&Re

(B) e Falfenes TaF

(C) 3 T

(D) TR @2 W

e @ Y et of 29

(A) T 8

(B) e IW

(C) fezmal 3%ge I

(D) TR IR 7

FER TRIEE AGH-A @ AT IWEE =,
©f %9

(A) 9 JrerE
(B) &-3% qSH

(C) TARINITeR &l
(D) TomR @b 7



4

82.

83.

84.

85.

86.

The merit of zero-based budget is
(A) expenditure is rationalised
(B) deficit finance becomes zero
(C) tax liability is reduced
(D) None of the above

Cannon of equity in taxation is generally
considered to be satisfied by

(A) regressive taxation
(B) progressive taxation
(C) proportional taxation
(D) None of the above

Whichaof the following is not an advantage
of debt redemption ?

(A)
(B)

(C) t discourages unnecessary
expenditure of the government

It reduces the cost of debt management

It maintains the confidence of the lender

(D) None of the above

In which of the following taxes impact and
incidence of tax'is on the same person ?

(A) Wealth tax

(B) Custom duty

(Cj Excise duty

(D) None of the above

Which-of the following is a merit of indirect
taxes ?

(A) They are progressive
(B) They promote savings
(C) They are less painful to taxpayers

(D) None of the above
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87. The whole burden of tax will be borne by
the sellers, if

(A)

the demand for a commodity is inelastic
and the supply is perfectly elastic

the demand for a commaodity is perfectly
elastic and the supply is inelastic

(B)

(©)

the elasticity of demand for a
commodity is same as the elasticity

of supply
(D) None of the above
88. Debt-service ratio is a ratio of

(A) gross domestic product which is to

be paid as debt

total debt which is to be paid in the
form of interest burden

import payment and
payment ratio

(D) None of the above

89. Which of the following is not an objective
of fiscal policy ?

(A) Regulation of financial institutions
(B) Economic growth
(C) Price stability
(D) None of the above

90. Fiscal deficit means
(A)
(B)

B)

© interest

total expenditure over total receipt

revenue expenditure over revenue
receipts

budgetary deficit plus market
borrowings and other liabilities of
the union government

(C)

(D) None of the above

91. Which of the following statements is correct ?

(A) The term ‘economic growth’ is

more comprehensive than the term
‘economic development’

(B) The term ‘economic development’ is
more comprehensive than the term
‘economic growth’

Economic growth implies
progressive changes in the
socioeconomic structure of a country

(D) None of the above

(€)
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Growth in developed countries mostly the
result of

(A) rising labour productivity
(B) rising capital accumulation
(C) innovation and technology
(D) None of the above

Despite being a high saving economy, a
developing country may still not grow fast
primarily due to

(A) high capital-output ratio
(B) Iilliteracy

(C) high population density
(D) None of the above

Which of the following is not an obstacle
to economic development ?

(A) Socio-cultural barriers
(B) Low rate of capital formation
(C) Vicious circle of poverty
(D) None of the above
The best indicator of economic development is
(A) rising capital - output ratio
(B) rising investment
(C) rising levels of living of all
(D) None of the above

The stage in which (/) basic needs are no
longer a problem, and (i) there is popular
consumption of durable goods, is known as

(A) the drive to maturity

(B) the take - off

(C) the stage of high mass consumption
(D) None of the above

According to Lewis, ‘unlimited supply of labour’
is

(A) the demand for labour is more than
the supply of labour

(B) the supply of labour at the
subsistence-wage is greater than
the demand for labour

(C) infinite labour is available at whatever
wage determined by market

| (D) None of the above
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98. According to Marx’s theory

(A) forces of production are more dynamic
than the relations of production

(B) relations of production aré more
dynamic than the forces of production

(C) both are equally dynamic
(D) None of the above

99, Investment projects should be capital
intensive because they would lead to
greater saving and investment in future,
advocated by

(A) WA. Lewis
(B) R. Nurkse
(C) Hans Singer
(D) None of them

100. Unbalanced growth hypothesis is formulated
on the assumption that

(A) there are unlimited supplies of
labour and capital

(B) there is prevalence of technological
in efficiency

(C) supplies of labour and capital are fixed
(D) None of the above

101. Which of the following is not a form of
foreign capital ?

(A) Direct foreign investment
(B) Portfolio Investment

(C) Foreign collaboration
(D) None of the above

102. The TRIPS agreement of World Trade
Organisation is related to

(A) Trade in services
(B) Patents and copyrights
(C) Tourism

(D) Ncne_of the above
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103. Which of the following statements are not
correct one ?

(A) The marketing system of multinational
companies are highly developed

(B) Multinational companies are of giant
size

(C) From the technological viewpoint
multinational companies are inferior
to the national companies

(D) None of the above

104. The concept of ‘sustainable development’
was first formalised by

(A) the Brundtland Commission

(B) the United Nations Human Rights
Commission

(C) the World Health Organisation
(D) None of the above
105. Sustainable development relates to

(A) control of population to suit natural

resources

(B)

bio-friendly development combining
sufficiency and efficiency

(C) exclusively preservation of natural

resources
(D) None of the above

106. Which one of the following is not a major
issue for development of Indian economy ?

(A) Low level of technology

(B) Poor quality of human capital
(C) Low per-capita income

(D) None of the above

107. Which of the following sectors is the
~ major contributor toward Gross Domestic
Savings of India ?

(A) Corporate sector
(B) Household sector
(C) Public sector

(D) None of the above
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The national income of india is calculated
mainly through

(A) production method alone

(B) income and expenditure methods
(C) production and income methods
(D) None of the above

According to Census - 2011, the female
literacy rate of India is

(A) 64.6%
(B) 61.8%
(C) 73.2%
(D) None of the above

Which industry employs largest numbers
of women labourers in India ?

(A) Textile

(B) Tea

(C) Jute

(D) None of the above

Which of the following committees has
been set up in India for identification of
BPL families in urban areas ?

(A) Hashim committee
(B) Tendulkar committee
(C) Saxena committee
(D) None of the above

Low productivity in agriculture in India is
attributed to

(A) heavy dependence on monsoon
(B) absence of new technology

(C) Both (A) and (B)

(D) None of the above

In India those farmers are called marginal
farmers who hold land up to

(A) 2 hectare
(B) 3 hectare
(C) 4 hectare
(D) None of the above
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The Agricultural Census in India is done at
which one of the following interval ?

(A) Every year

(B) Once in every four years
(C) Once in every five years
(D) None of the above

Land reform programmes in India do not
include

(A) tenancy reform

(B) elimination of intermediaries
(C) consolidation of holdings
(D) None of the above

In Pradhan Mantri Fasal Bima Yojana (PMFBY)
2016, what is the rate of premium of kharif
crops ?

(A) 1.5% of actual sum assured
(B) 2% of actual sum assured
(C) 5% of actual sum assured
(D) None of the above

Kisan Credit Card (KCC) was introduced
in India in

(A) August, 1998

(B) August, 2000

(C) July, 2014

(D) None of the above
Which of the following statements is not
correct ?
(A) Disguised unemployment is present
only in agriculture
(B) Disguised unemployment is a major
cause of the low standard of living in
the rural areas of India
(C) Marginal product of a disguised
unemployed is zero
(D) None of the above
Which bank is limited to the agriculture
and rural finance ?
(A) 1DBI
(B) Regional rural banks
(C) NABARD
(D) None of the above
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Which of the following statements is
incorrect ?

(A) Due to green revolution soil fertility
degraded

(B) New High Yielding Variety (HYV)
seeds require comparatively very
high amount of water

(C) Green revolution caused environmental
egradation

(D) None of the above

Which among the following does belong
to India’s large scale industries ?

(A) Khadi and village industry
(B) Cotton textile industry

(C) Iron and steel industry
(D) None of the above

Investment in plant and machinery in a micro-
manufacturing industry in India does not
exceed

(A) 5 lakhs
(B) 50 lakhs
(C) 25lakhs
(D) None of the above

Which of the following agencies has the
power to declare any industrial unit as a
potentially sick unit ?

(A) Industrial Reconstruction Bank of
India (IRBI)

(B) Board of Industrial and Financial
Reconstruction (BIFR)

(C) Industrial Development Bank of
India (IDBI)

(D) None of the above

124. Removing of barriers or restrictions set by

14

government in trade is called
(A) Liberalisation

(B) Globalisation

(C) Favourable trade

(D) None of the above
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125. The core industries do not include
(A) Mining
(B) Petroleum
(C) Soaps and detergent
(D) None of the above

126. The industry earns the second highest net
foreign exchange from the trade is

(A) steel industry

(B) engineering goods industry
(C) textile industry

(D) None of the above

127. Which one of the following statements

best represents the important difference
between Foreign Direct Investment (FDI)
and Foreign Institutional Investment (Fll) ?

(A) Fll is considered to be more stable
than FDI

(B) FIl helps in increasing -capital
availability in general, while FDI only
target specific sectors.

(C) FDI flows only into the secondary
market, while Fll targets primary market

(D) None of the above

128. ‘Make India’ campaign aimed at attracting

industries to make India a global
manufacturing hub, was launched in

(A) September, 2014
(B) March, 2015

(C) December, 2010

(D) None of the above

129. One major government initiatives to attract

foreign companies to invest in India was
(A)
(B)
(©)
D)

raising the standard of education
reducing fiscal deficit

building special economic zones

Nonepf the above

4 25

125. & P (oD smefs =
(A) e P
(B) Trgtemry e
(C) RN @3 fEoRTES (fFwRs) M
(D) TR @bE W

126. Jfdey 3 A6 "OR TEA® WERE T
eIl e 2@

(A) T=re fg

(B) etz w=y
(C) 3 s

(D) TR @R

ANea @I IS erers [omn [fwae (FDI)
a2 e eifeeifee Rivaem (FIl) sy
gwged i1y oM 337

(A) FDI=Tsrt Fll & @ R 7 71 =

(B) RIS Fll TG TTSfoR RRe! 377,
w7 firee FDI e owtg iR wis 3

(C) FDIwgi@ fwoke 31 (M It 27ifEs =3,
5% Fll @7 7 RE 31 a1efie I

(D) THEE @R W

I FE SRS GF LG SeATH (FH
NG (OF!, WTF AR

(A) @TFT, 2014
(B) w6, 2015

(C) fsor=s, 2010
(D) TEa e

RoMt @@ oRce Riv@es o= sl
IR G AT =&

(A) P a1 3% 30
(B) «i5fe 3w 201 341
(C) vy Sdtafes sl oLy (e
(D) Teitzm @b T

127.

128.

129.

[PTO



130.

131.

132.

133.

134.

135.
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Which of the following items is not
included in the current account of India’s
balance of payments ?

(A) Exports

(B) Interest payments

(C) Portfolio investment
(D) None of the above

State governments in India finance their
gross fiscal deficit by

(A) market borrowings

(B) loans from central government

(C) loans from abroad

(D) None of the above

Retail banking is to provide banking services

(A) entirely to agriculture sector only

(B) only to individual customers in an
integrated manner

(C) only to Self Help Groups for their survival

(D) None of the above

The existence of a parallel economy or
black money

(A) makes the monetary policies less

effective
(B) makes the economy more competitive
(C) ensures increasing productive
investment

(D) None of the above
Which among the following defines reporate ?

(A) The rate at which banks place their
surplus fund with Reserve Bank of
India (RBI)

(B)' The rate at which banks can borrow
against their excess SLR securities to
meet additional liquidity requirements

(C) The rate at which banks borrow funds
from the RBI against eligible collaterals

(D) None of the above

"When was insurance regulatory and

development authority constituted ?
(A) 1993

(B) 1999

(C) 1971

(D) None of the above
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136. National Development Council was set up in
(A) 1948
(B) 1949
(C) 1950
(D) None of the above

137. Planning in India derives its objectives from
(A) Fundamental Rights
(B) Directive Principles of State Policy
(C) Fundamental Duties
(D) None of the above

138. Which of the following is true ?

(A) Financial planning is more important
than physical planning

(B) Physical and financial plannings are
complementary

(C) Physical planning is more important
than financial planning

(D) None of the above

139. NITlAayog has partnered with which three
States to improve healith-care delivery ?

(A) Uttar Pradesh, Assam and Karnataka
(B) Sikkim, Assam and Jharkhand

(C) Odisha, Jharkhand and Kerala

(D) None of the above

140. In which of the following Five-Year Plans total
expenditure on agriculture was highest ?

(A) First Five-Year Plan
(B) Third Five-Year Pian
(C) Fourth Five-Year Plan

(D) None of the above
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141. Which one of the following is an example

of processed data ?
(A) Tables from surveys
(B) Numbers of visitors to a store
(C) Customer comments
(D) None of the above
142. Secondary data are least helpful to
(A) Evaluate new products
(B) Develop questionnaires
(C) Interpret tables
(D) None of the above

143. If mean is 11 and median is 13, then value

of mode is

(A) 15

(B) 13

() 17

(D) None of the above

144. Which of the following statements is correct ?

(A)

Consumers Price Index measures
price changes in goods

(B)

Consumers Price Index measures price
changes in both goods and services

(C) Wholesale Price Index measures

price changes in goods

(D) None of the above
145. The Laspeyres Price Index
(A)
(B)
©)

Regards the base year prices as fixed
Regards the current year prices as fixed

Regards the current year quantities
as fixed
(D) None of the above
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Which of the following divides a group of
data into four subgroups ?

(A) Quartiles

(B) Standard deviation

(C) Median

(D) None of the above

Correlation between income and demand is
(A) Negative

(B) Positive

(C) Zero

(D) None of the above

Which is the most widely used method of
calculating correlation ?

(A) Karl pearson’s

(B) Charles spearman’s
(C) Scatter diagram
(D) None of the above

To state function that value of variable yis
determined by variable of x is written as

(A) =)y
(B) x=1fy)
(©) y=1x)
(D) None of the above

Function written as, y = —-4x + 16, is
general form of

(A) constant function
(B) variable function
(C) non-liner function

(D) None of the above
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